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1.1 _E,RCT (1978 2 1 )

U, = 0.6740*E, + 0.0880*F, + 0.0534*C, + 0.1909*T, — 1.2e-5*D
(R2 = 0.9993, o =0.2232)

1.2 C T 1966 4 1 t 19/8 1 3

U, = 0.5006*C, — 0.0004*(C,)3 + 9.97€-6*S*(C,)* + 1.0780%S*(|T,|)/2
+0.0267*S*(T,)2— 0.00045*(T,)3 - 6.6e-5*D + 0.2834
(R2=0.9990, ¢ = 0.3735)

1.3 1949 1 1 t 1966 3 31

U, = 1.4678*S*(| T, |) /2 + 0.5502*T, + 0.0132*S*(T,)2 -
0.0002%(T,)3 - 1.5e-5*D  1.623
(R2=0.9971, o = 0.4282)
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21 19/8 2 1

Uy, = 0.4280*EM +0.4092*FM + 0.1546*TM + 0.002584*EM**2
—0.001840*FM**2  9.30e-6*D
(R2=0.9990, o = 0.4411)

22 1971 1 1 t 1978 1 31

Uy, = 0.7468*T,, + 0.0253*S*(C,,)2 — 0.0011*(C,,)3— 0.00016*(T,,)3
+ 3.20e-5*S*(C,,)* — 3.33e-7*(C,,)° + 1.74e-5*D + 0.1186
(R2 = 9985, ¢ = 0.6582)

23 1949 1 1 t 1970 12 31

Uy, = 0.1483*S*(| Ty, | 2 + 1.0284*T,, — 0.001410*TM**
5.0e-6*D  0.9525
(R2=0.9978, o = 0.8427)

25



3.1 19/8 2 1

U, = 0.1916*E, — 0.1124*F_ + 0.5393*C,_ + 0.3708*T_ + 0.00025*(E,)?
—0.00013*%(C,)3 - 9.86e-5%(T )3  1.01e-5*D
(R2=0.9989, ¢ = 0.3714)

32 19/72 1 1 t 1978 1 31

U, = 0.5922*C,_ +0.3410*T, - 0.01774*S*(C, )2 + 0.02329*S*(T )2
+0.00112%(C,)3— 0.00128*%(T, )3~ 2.3e-5*5*(C,_)* + 2.36€-5*S*(T_)* + 0.1678
(R2=0.9987, 0 = 0.4182)
33 1949 1 1t 1971 12 31

U, = 0.8510%T_ + 0.01623*S*(T )2 — 0.00068*(T, )3 + 9.15e-6*S*(T. )4+ 0.1271
(R2=0.9980, ¢ =0.5766)
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